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Grades 10-12

Algebra 2/Trigonometry1

Name: ____________________________
Real World Application Solutions
Parent Functions

The equation 
[image: image3.emf] represents the path of a tennis being hit, where x represents the time (seconds) and y represents the height (feet) of the tennis ball.
1) Rewrite the equation in vertex form: 
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2) Graph the equation by plotting at least three points. (see graph below)
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3) At what time does the tennis ball reach its maximum height? 4 seconds
4) What is the maximum height the tennis ball reaches? 5 feet

5) Explain the transformations of this graph in comparison to the graph y = x2.
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